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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten.

Give types of Chemical bond.

Define : Catalytic promoter.

What is ionization?

Define PH

Give the types of electrolytes with suitable examples

What is ionization and state the factors affecting the degree of ionization?

Explain waterline corrosion.

Explain structure of graphite.

Give name of salts producing hardness of Water.
What is Polymer ?

What is hydrogen bond? Explain Types of Hydrogen Bond.
OR
Write the significance of Hydrogen bond
Write a brief note on Electroplating.
OR
Define: Buffer solution; Explain Types of buffer solution with Example.
Calculate the PH of 0.001M. H,SO4
OR

List the effects of hard water when used in boiler. Discuss any one in detail.

Explain pitting corrosion .
OR
Explain concentration cell corrosion.

Explain Zeolite process for softening of water

OR
Give type of hardness and the names of salts which cause hardness in
water.

Classify lubricants with examples. Explain Synthetic lubricants in details.
OR

Define: Lubricant; Give their functions .

Give the Classification of Organic Compound.

OR
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Explain Saturated and unsaturated Hydrocarbon.

Distinguish between thermoplastics and thermosetting plastics
OR

Give the types of adhesives with one example of each.

Explain lonic bond formation with suitable Example.
OR
Explain Condensation Polymerization with suitable Example.

Explain Boundary Lubrication.
OR
ASample of hard water gave on analysis the following results.
[7]
Ca (HCOg3), =81 mg/liter
Mg (HCOs), = 14.6 mgl/liter.
CaS0, = 6.8 mg/liter.
MgCl, =19 mg/liter.
Calculate the total hardness of water in PPM.
At.Wts. H=1, C=12, 0=16, Mg =24, S= 32, Cl =35.5, Ca = 40).

Give different methods to reduce Corrosion.
Explain refining of petroleum with Diagram

Write industrial application of Electrolysis.Explain anyone in Detail.
Total hardness of a water sample is 250 PPM. Calculate the hardness
of that water in degree Clark and degree French.

Explain method of cathodic protection.
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